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99.9 % Ba2+ Sr2+
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BaCrO4 [Ba2+] 5 2.0× 10 5 mol/L

[CrO4
2 ] =

10 9.9 mol2/L2

[Ba2+]
= 10 9.9 mol2/L2

2.0× 10 5 mol/L
= 5.0× 10 5.9 mol/L
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5.0× 10 5.9 mol/L 5 [CrO42 ] < 5.0× 10 3.7 mol/L (4)
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(5) 1 (1) pH

10 6.5 mol/L× 102.7 < [H+] 5 10 6.5 mol/L× 104.9
10 3.8 mol/L < [H+] 5 10 1.6 mol/L

1.6 5 pH < 3.8
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1 31 2

2 4-3 L COOH CH3 NH2 H

1 5 5 L 4 D
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5

1 V = 23.02 mL HB x mmol/L

x mmol/L× 20.00 mL× 1 = 1.564 mmol/L× 23.02 mL× 1
x mmol/L = 1.800 mmol/L = 0.001800 mol/L
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2 V = 20.00 mL (20.00 + 20.00) mL = 40.00 mL

[Na+] = 1.564 mmol/L× 20.00 mL

40.00 mL
= 0.7820 mmol/L

[H+] = 10 4.000 mol/L = 0.1000 mmol/L

[HB] + [B ] = 1.800 mmol/L× 20.00 mL

40.00 mL
= 0.9000 mmol/L

pH = 4.000 H2O [OH ]

[B ] = [Na+] + [H+] [OH ] ; [Na+] + [H+] = (0.7820 + 0.1000) mmol/L = 0.8820 mmol/L
[HB] = (0.9000 0.8820) mmol/L = 0.0180 mmol/L

Ka =
[H+][B ]

[HB]
=
0.1000 mmol/L× 0.8820 mmol/L

0.0180 mmol/L
= 4.9 mmol/L = 4.9× 10 3 mol/L
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=
[B ]

[HB] + [B ]
=
0.8820 mmol/L

0.9000 mmol/L
= 0.98
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[Na+] = 0 mmol/L

[H+] = 10 2.854 mol/L = 100.146 mmol/L = 1.400 mmol/L

[HB] + [B ] = 1.800 mmol/L

[B ] ; [Na+] + [H+] = (0 + 1.400) mmol/L = 1.400 mmol/L
[HB] = (1.8000 1.4000) mmol/L = 0.4000 mmol/L

0

0 =
[B ]

[HB] + [B ]
=
1.4000 mmol/L

1.8000 mmol/L
= 0.78
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100.146 3

3 V = 0 mL V = 20.00 mL [OH ]
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